Sr Questions Answers Choice

1 How many types of addressing scheme

o o VW

. A phone line Modern
. PSL

. Cable Modern

A

2 A computer can be linked to the internet through

UowWPr TUOowp

. U.S Government
. Pak Telecom

. United Nations

. None

3 Who owns the internet

o0 w>

A. America Rational Program
Association
B. Advanced Residential
Programming Association

4 ARPA stands for C. Advanced Research Project
Agency
D. Arizonas Russian Program of
Association

. 1969
. 1976
1978
1980

5 The USA Defence Department initiated the Internet is

IEEE 802.2
IEEE 802.3
TCP/IP

g

6 Which of the following is an internet protocol

Interlink
Internet
Collection
Group

7 Collection of millions of computer interlinked to one another is called

8 How many arguments does the sun function required

BWN —

Function
Graph
Range
Cell

9 A preprogrammed formula

Many rows

Many columns
Worksheet

Least no or columns

10 A work book is a group of

Work book
Work
Account book
Work sheet

11 Main window is spreadsheet is called

Cc8
C6
E4
D9

12 Which cell address will be include in the range C5 : E7

Label
Value

Each cell can contain a
13 Formula

All

U0 WP DOWP UOWr UOWP 0U0Wr U0Wr U0UP 0UOm» U0Wr

14 Which of the following is a correct column address

oow>
W N
R[ERE



15

Which of the following is a correct raw address



